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1. AR x2 4+ x+1=0%, d x199 4 x200 , ,201 4. 99 i $S={234,56709 8 S A
1 HH H7 87 3-3F[ ot fim d@d (Res aft o=
o= 1) =918 <1 gt €, S 500 ¥ B &7

(@ -1
(@ 30
(b) 0O
(b) 49
1
i () 90
s (d) 147
2. IR x, y, z PR A (GP) § &, @ Frafafaa BTG S R
# 8 /-8 WA b/ i i e
1. In(3x), In(3y), In(32) TR ¥ (AP) j
g (@ 10" p
2. xyz+In(x), xyz+In(y), xyz+In(z) AT
Tews A¢ (HP) § § g
= oy g 2 1 wEm R wd W gl £k e
d) 10"
(@) 54 1 o s
i 6. fauma wftE
c) 1 3R 23

3x2% - (k% +5k)x+3k% -5k =0

(d @12 * WM iy 3R Rl fog o afas

T #1 Frefefan § & A-m w8 37

3. AR logyp2, log;oR* -1, logoR* +3) (@) 0<k<g
TR A (AP) § &, a1 x Foraeh Sue 27
(@ 0 (b) %ﬁa0<k<g
(b) 1
(c) §<k<§
(c) logy S S 3
(d) logs2 (d) k% @1 FE TH TE R
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1. If x2 +x+1=0, then what is the value 4, let S={234,56 7 9. How many
different 3-digit numbers (with all digits
different) from S can be made which
are less than 5007

of x199 +x200 + x201?

(@) -1

(@) 30
(b) O (b) 49
(¢) 1 () 90
@ 3 (@) 147

5. If p=(1111.--up to ndigits), then what is
2. If x, y, z are in GP, then which of the the value of 9p2 +p?
following is/are correct?

: (@ 10"p
1. 1In(3x), In(3y), In(32) are in AP
2. xyz+In(x), xyz+In(y), xyz+in(2) (b) 2p-10"
are in HP

g 10"p-1
Select the correct answer using the .
code given below. (d 10" p+1
(@) 1 only 6. The quadratic equation
(b) 2 only

3x2% - (k2 +5k)x+3k% -5k =0
(c) Both 1 and 2
has real roots of equal magnitude and
opposite sign. Which one of the
following is correct?

(d) Neither 1 nor 2

3. If log;g2, log;oR* - 1), log;o(2* +3) are W Ok S
in AP, then what is x equal to? 3
(@ 0 (b) 0<k<~gonly
(b) 1
3 S
(c) log,5 b .g5% %3
(d) logs 2 (d) No such value of k exists

DFGT-D-TMS/1A 3 [ PR



7. R a, =n(n!) ?, W a +a, +az +--+ay 10. IR

foraes s 87 . ; s
(@ 10!-1 b+c c+d a+b
() 111+1 eE 49 (HP) § 8, @ Fafafas # @
(c) 101+1 ﬂq_m/w_%ﬁ_ﬁ%/%?
1. a, b, c G9IR ¥ (AP) H &
(d 111-1
2. (b+92, c+a)?, (a+bh? TR A
(GP) & &
8. AR p I g T x2+px+q=0 &
TR T 3, @ g% e G T D g T g2 1 T R H IR g
?
= (@) Faa 1
(@ T
(b) Fad 2
(b) TH i
M
o c) 13R2
@ @ (d AW 1IRAH2
9. 7fe 11. 3R
aeeh 6 1 a
A=|d e f A=[o 1}
g-h 4
2, Bl aeNg @
34 3
100 _ 450 _na25
3d+5g 4a+7g 6g 4 4 =
3e+5h 4b+7h 6h foras R 87
3f+5i 4c+7i 6i
(@ -2I
orer =R BY
-1
) (b)
(b) 7A fc) 2r
(c) 72A (@ I
(d) -72A el 1 e e R
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7. If a, =n(n!), then what is 10. If

al+a2+a3+"‘+a10 1 1 1
b+c c+a a+b
equal to?
(@ 10!-1 are in HP, then which of the following
is/are correct?
(b) 111+1
L. b, in AP
(c) 10!+1 a, b, c are I
2. °th 2 2 B2 . p
(d 111-1 (b+9%, (c+a)*, (@a+b)* are in G

Select the correct answer using the

8. If p and q are the non-zero roots of code given below.

the equation x? + px+q=0, then how

many possible values can g have? (@) 1 only
(a) Nil (b) 2 only
(b) One () Both 1 and 2
T (d) Neither 1 nor 2
(d) Three
: Lo g
o o 1
a b-ve A -_-Ll) ‘:]
A=ld e if
g h i

where a € N, then what is
then what is

AIOO _ASO _2A25
3d+5g 4a+7g 6g

3e+5h 4b+7h 6h

equal to?
3f+5i 4c+7i 6i

equal to? st

=1
Pl (b)
(b) 7A (c) 2I
(c) T72A (d 1
(d) -72A where [ is the identity matrix.

DFGT-D-TMS/1A 5 [ P.T.O.



12, 4R 16. Ife T ax? + bx +c= 0 % T sind 30K

a -b a-b-c¢ cosf &, @ Fraferfaa & @ F9-w wd 27
-a b -a+b-c|-kabc=0
-a -b -a-b+e (@ a?+b2-2ac=0
(@20, b#0,c#0)
&, kA b () -a2+b? +2ac=0
(a) -4
:)} ;2 (c) a® -b2 +2ac=0
(@ 4
(d) a?+b?+2ac=0
8n+7
13. Y i forud sue @, Wl i= V-1 7
n=1
(a) -1 :
®) 1 17. A% C(n, 4), C(n, 5 IR C(n, 6) THIW
© i (AP) § &, @ n 1 WM 1 87
(@ -i @ 7
14. IR z=x+iy 8, 5@ i=/-1 8, @ GHHw
(b) 8
zZ+|2% +4(z+2)-48=0 T Tiefm
A 87 (c) 9
(a) T T@n PR
(b) TETH
() I
(d) W& @t # TH 18. ¥ad ‘LUCKNOW’ ¥ ¥ &Rl &1 am &
(1 gmmefa %) @ @-g® 4-9W T
15. fyafiflas & @ F9-1 2a+2Va2 + b2 & e wree (vl = fedfe) =T s wha #7
T R, el @, be R 27
(a) Ja+ib+Ja=ib e
{b) Ja+ib-+a-ib (b) 200
(c) 2a+ib
(d) 2a-ib fc) - 150
sl i = /-1 (d) 120
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12. If 16. If sin® and cos® are the roots of the
PO N 1, R equation ax? +bx+c=0, then which

S b Baib el cNaBsaD one of the following is correct?
-a -b -a-b+c

(a) a? +b?% -2ac=0
(a0, b#0c#0)

then what is the value of k? 2 2
(b) -a“ +b*“ +2ac=0

{9l "=h
(b) -2
2 2
-b“ +2ac=0
© 2 (c) a ac
@ 4
(@ a®+b?+2ac=0
8n+7
13. Whatis Y i" equal to, where i= J=1?
n=1
(@ -1 ;
17. If C(n,4), C(n, 5 and C(n, 6) are in AP,
() 1 then what is the value of n?
(e) i
7
@ -i 4
. . (b) 8
14. Ifz = x + iy, where i = /-1, then what does
the equation zZ +|z[?+4(z+2)-48=0 (c) 9
represent?
; (@ 10
(a) Straight line
(b) Parabola
(c) Circle 18. How many 4-letter words (with or
(d) Pair of straight lines without meaning) containing two
vowels can be constructed using only
15. Which one of the following is a square the letters (without repetition) of the
T word LUCKNOW™?
root of 2a+2vVa“ +b“, where q, be R?
(a) Ja+ib++Ja—1ib (@) 240
(b) Ja+ib-~Ja-ib (b) 200
(c) 2a+ib
(d) 2a-ib e
where i =+J/-1. (d) 120
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19. AH i w g9 w 20 i fig arfes s
4§ fem §) Fefafaa § § S9-w/#8-8 w9
@ /2

1. 7 | el @) fagadt = stest = =0
&4 arelt e {@! sl @@ 380 2|

2. T 8 5l IR fagedt =t e sg
S g ara Byt i @emn 1140 R)

= fag T gz #1 wEn R wd 3w ghug
(a) a1

(b) FaE 2

(c) 1 3R 23

(d @ 1IRAE2

21
20. [:—§+2;+2J ¥F fowar o fran 92 B, @i
a

a+0,b#0%8?
@ 21
(b) 22
(c) 42

d 43

DFGT-D-TMS/1A

21. k% o wrl ¥ fore adfte fsm
2k?x+3y-1=0, 7x-2y+3=0,
6kx+y+1=0
T 27
3+411
10

21+4/161
10

3+J7
10

44411
10

(@)

(b)

(c)

(d)

22, I A ¥ wfaam F

[_2 1]
e %
iy

TR wEga o e R A fored s 27

@[3 3]

o 53]
9 5 4]
@ |3 3]

23. e f(x)=In[2+sin? x) F FEdHE T
?7
n

(a) 2

(b) =
(c) 2n
(d) 3mn



19. Suppose 20 distinct points are placed 21. For what values of k is the system of
randomly on a circle. Which of the equations

following statements is/are correct? 9
2k“x+3y-1=0, 7x-2y+3=0,

1. The number of straight lines that 6kx+y+1=0
can be drawn by joining any two of

these points is 380. consistent?
3+411
2. The number of triangles that can be (@) 10
drawn by joining any three of these
points is 1140. (b) 21+4/161
10
Select the correct answer using the 3+.7
code given below. (c) 10
4 +11
(G et
(@) 1 only 10
(b) 2 only 22. The inverse of a matrix A is given by
() Both 1 and 2 ['g 11]
: P

(d) Neither 1 nor 2 What is A equal to?

(@ 1 2]

13 4

20. How many terms are there in the g
expansion of =
(b) -3 4]

[

21

a* ;b2 @ 1s -4]

o -1 2

(@ 3 4]

where a# 0, b#07?
23. What is the period of the function

(@) 21 f(x)=In@+sin? x)?
n
(b) 22 (a) 2
(c) 42 LB
(c) 2n
(d) 43 @ 3x
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24. AR sin(A+B)=1 3R 2sin(A-B)=1 %, 28. WA AT 0< x, y z < 1% faw

33?0<A,B<g%,'rﬁtanA:tanB%ﬂgﬁ 1 1 3n

sin” x +sin~! y+sin~ oy

SO 87
1000 001 1002
@l 1o Bl x + 31001 4 & HH 1’7
(b) 2:1 ' (@ 0
{ch 213 (b) 1
@ 3:1 3
25. iowﬁaﬁwwmﬁmml (d 6
A 9 fagati =t frem fra fBiye s
TR 8, Rt oft oo, age g » 29. ¥ AR Wt x, ye R F R
wdfg 7E 87 . )
sinx +siny=cosx +cosy
(@) 25
(b) 50 %lm(§+gjﬁm%ﬁm%?
{c) 75
(d 100 .3
(b) 2
26. g0 x? -10x2 +9=0 % Wt IEfH © 3
ool ® fEr it gwl ¥ Prde wE oW
AT w4 27 (@) 272
(a) 4
) 6 30. H wifse
(c) 8 A=[_g {2)] I (ml+na)?=A
(d) 10
?, SI&l m, n YA SrEAfaE GEEd § oqu 7
27. (1+x)" % foer ® fEr $fm) o difte TETF AR B (m + n) Fra swen 27
3 I 8 r@(sm:m,@, nal 3R
(n+ 1T 981 % T ¥ (ps + gr) Fra® so (@, 0
27
® 2
(a) 1+2n 2
(b) 1+2n2 (c) 3 )
(¢) 1+n? 3
(@ —
(d 1+4n 2

DFGT-D-TMS/1A 10



24, If sin(A+B)=1 and 2sin(A-B)=], 28. Let
where 0< A Bz -;— then what is

sin~! x +sin! y+s¢in‘1 z=
tan A: tan B equal to? 2
(@ 1:2 for 0< x, y z< 1. What is the value of
(b) 2:1 x1000 | 41001 ; ;10027
el i3
(@ 3:1 (@) O
(b) 1
25. Consider a regular polygon with 10 sides. 3
What is the number of triangles that (c)
can be formed by joining the vertices (d 6

which have no common side with any of
the sides of the polygon?
29, Let sinx+siny=cosx+cosy for all

(@) 25 : x y
x, ye R. What is tan| = += | equal to?
(b) 50 R
() 75 (@) 1
(d) 100 (b) 2
. . (e 2
26. Consider all the real roots of the equation
x*-10x2 +9=0. What is the sum of (d) 272
the absolute values of the roots?
(@ 4 30. Let
6 0 2
&) A=[ ] and (ml+nA)? =A
(c) 8 -2 0
)10 where m, n are positive real numbers
and I is the identity matrix. What is
27. Consider the expansion of (1+x)". Let (m + n) equal to?
p, g r and s be the coefficients of
first, second, nth and (n+}jth terms (@ O
respectively. What is (ps +gr) equal to? "
(@ 1+2n oF =
(b) 1+2n? () 1
() 1+n? 3
=
(d 1+4n 2
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31. cot[sin'l:—;+cot‘1§JﬁlmiﬂT%? 34. Hiww ’53‘8=0 * '{Eﬁ % Y q

Frfefaa woAt w famm Hifvw

@ & 1. ¥ I §)

s 2. T, T B A 99 w Rl §

(b) _116 I Forl F ¥ FH-A/F-3 g B/E
(@) Fad 1

(c) —17,—6 (b) Fad 2
(c) 1 3R 23

(d) 1—67 (@ JA@1dRTH2

35. HH Eﬁﬁﬂ{ i sec x -cosec x = p 1 THh

32. ¥A W 4sin? x=3 B, W& O<x<n B ¥ 8, &l p T wToT At qen 2 p

tan 3x foras arEr 27

1 TAYAH HH H1 87
-2
(@ @
(b) -1
(c O (b) 1
@ 1 iy

(d) EaH qH 1 Afte 7 &

33. WH ¥ p, g 3R 3 TF TR F (AP) F

Wqﬁ,?ﬁmquﬁﬁlmm 35_9agﬁ;qm:{%%q"s|gf0<g<ﬁ 2,
d 914 3@ 8| IR TAGS (pg) TG B, A d 2

&1 qF 1 87 sin® + sin O cos 6 JfeHan 7H W = 27
n
(@ 1 (@) 2
3
(b) = n
8 (b) 3
€ 3 s
9 n
(d) 2 (d) e
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31. What is the value of the following? 34. Consider the following statements in
A respect of the roots of the equation
cot{sin_l 5 +cot™} g:\ x3-8=0:
1. The roots are non-collinear.

6 2. The roots lie on a circle of unit
(a) :
17 radius.

Which of the above statements is/are

(b) 16 correct?
a) 1 onl
1 (a) y
(c) 7 (b) 2 only
(¢) Both 1 and 2
17
(d) 6 (d) Neither 1 nor 2

35. Let the equation secx-cosecx = p have

32. Let 4sin? x =3, where 0<x<n What a solution, where p is a positive real
is tan 3x equal to? number. What should be the smallest
value of p?
(@ -2 1
(@ =
(b) -1 2
(g O (b) 1
(@ 1 (c) 2

(d) Minimum does not exist
33. Let p, g and 3 be respectively the first,
third and fifth terms of an AP. Let d be

the common difference. If the product 36. For what value of 6, where 0<6< g,
(pg is minimum, then what is the value does sin® +sinBcosf attain maximum
of d?
value?
(@ 1 n
@ =
3
b)) <
8 >
(b) 3
9
(c) = L)
8 (c) P
9 1
d — )i
(d) 2 (d) 6

DFGT-D-TMS/1A 13 [P.T.O.



37. g=Rl % wWe ¥ famfafgd wudi w fEw 39. wadl iR wert % "ol F FrfrRan wudl W

Eﬁﬁ’“{- ﬁwaﬁﬁq:
1. Tyl ¥ wdfis W aften dmes 2 1. &t ey, %o § A wf wem, day
TE 2
A imﬂ.: il o 2. A% B %I i §a9 Ffa M Ax B
_ 1 3797 B
3. R A wg=El # IR F wy=a F 3. A F W vy FdE TR AxA =
TR R, W I TSI AT w0 2| A= 3
I FuE & A B-2 w@ & 394 FYAl A § P-4 98 87
(a) Fad 1 3R 2
(@) %= 1 3R 2 (b) Faa 2 3R 3
3l
(b) Haw 2 3N 3 ot gl
(d 1,23R3
(c) ¥a¢ 13K 3
40. 3R log,,21log, 10 +log;(10%) =2 &, @ x
(@) 1, 23R 3 = AH 187
(a O
(b) 1
38. dH wg=A X, v ¥R z W faun $ifte, R (c) logy10
F: 6, 5 3R 4 3Fga §) A woft 15 Ega (d) logs?2
fim %1 7R #if S=(X-v)uz 1 s &
T e swag=m €7

41. WM T ABC @ figw R R
(a) 255 cos2A +cos2B+cos2C= -1
#, @ Frfafea # @ #9-a wd ¥7

(b) 256 (a) sinAsinBsinC=0

(b) sinAsinBcosC=0
g 4t (¢) cosAsinBsinC=0
(d) 1024 (d) cosAcosBcosC=0

DFGT-D-TMS/1A 14



37. Consider the following statements in

respect of sets :

1. The union over intersection of sets
is distributive.

2. The complement of union of two
sets is equal to intersection of their
complements.

3. If the difference of two sets is
equal to empty set, then the two
sets must be equal.

Which of the above statements are
correct?

(a) 1 and 2 only
(b) 2 and 3 only
{c¢) 1 and 3 only

(d 1,2 and 3

38. Consider three sets X, Y and Z having

6, 5 and 4 elements respectively. All
these 15 elements are distinct. Let
S=(X-Y)uZ. How many proper
subsets does S have?

(a) 255
(b) 256
(c) 1023

(d) 1024

DFGT-D-TMS/1A

15

39. Consider the following statements in

respect of relations and functions :

1. All relations are functions but all
functions are not relations.

2. A relation from A to B is a subset
of Cartesian product Ax B

3. A relation in A is a subset of
Cartesian product A x A.

Which of the above statements are
correct?

(a) 1 and 2 only
() 2 and 3 only
{c) 1 and 3 only
(d 1,2 and 3

40. If log;g2logy 10+1log;((10¥) =2, then

what is the value of x?
fa) O

(b) 1

c) log, 10

(d) logs2

41. Let ABC be a triangle. If

cos2A +cos2B+cos2C=-1

then which one of the following is
correct?

(a) sinAsinBsinC=0
(b) sinAsinBcosC=0
(c) cosAsinBsinC=0

(d) cosAcosBcosC=0

[ P.T.O.



42. R (feefifde) 46. 3% 3, 5, 7, 9 W =R i) T 5

cosC tanA 0 5-3 T ol seard s s v &,
sinB 0 -tanA ol &7 =l it 3§ ¥y i A7
0 sinB cosC
1 4 w1 27 (a) 240
(@ -1
180
B 0 (b)
{c) 2tan Asin BsinC ) 130
. ([d)] —-2tanAsin BsinC
43. WA e gy A § vgel 250 gaguis W E, (d) 60
St 3 % e # @ik wg=g B wwd 200 @
ST 81 AU BY fhad staga §7
Gl 5 47. W 5 fm e e 8, el @t W)
(b) 364 wfafeat (1, 2 & o &7
(c) 384 :
(d) 400 (@ 16
44. 7F Aifg 5, fredt wHieR A (AP) ¥ e k
@ ¥ dmed w2, @ 530 ). 24
S ~Sio
foraes s 27 (c) 32
fa) 1
() 2 (@ 48
{c) 3
(@ 4
45. I Tl 48. AR i=V-1%, A PR nez ¥ Rmi 2 %
4x2 —(Sk+)x+5k =0 o w7
% @l A UF W AR B, @ Pefefed § @
FH-T1 k F1 UF G911 TH 27 G ]
(@ -3
- b) A
b -1 (b)
(c) - () =R
3
@ -3 (d) *Fa

DFGT-D-TMS/1A 16



42. What is the value of the following 46. Consider the digits 3, 5, 7, 9. What is
determinant? the number of 5-digit numbers formed
el tanA 0 by these digits in which each of these

sin B 0 CANA four digits appears?

0 sinB cosC

(a) 240
(a) -1
(b) O (b) 180
(c) 2tanAsinBsinC

43. Suppose set A consists of first 250

natural numbers that are multiples of (d) 60

3 and set B consists of first 200 even

natural numbers. How many elements

does AU B have?

(@) 324 47. How many distinct matrices exist with
all four entries taken from {1, 2}?

(b) 364
(c) 384
(d) 400 o) 4%
44. Let S, denote the sum of first k terms of (b) 24
an AP. What is —S§°— equal to?
20 ~ =10 (c) 32
(@ 1
(b) 2 (d) 48
fc) 3
(@ 4
45. If the roots of the equation 48. If i =+/~1, then how many values does

.-2n -
4x2 — (5k + )x + 5k = 0 i have for different ne Z?

differ by unity, then which one of the

following is a possible value of k ? (@) One
(@ -3
(b) -1 (b) Two
© —5 (c) Four
%
)= .
S (d) Infinite

DFGT-D-TMS/1A 17 [P0



49, 7f2
a b c
X=— y:—-—’ =
- c—-a P
o= %
jA|1 1 —ylwmEAmw?
o ]
(@) O
) 1
(c) abc
(d) ab+ bec+ca
50. 3A=gR

1
A=(1 11
15

% vay § frafrfaa w fem $ift

1. A% vfaem #1 afea 768 3
2. A%=4
3. 3A=A2

S # | FH-3 wd §7
(@) *a9 1 3R 2
(b) Faw 2 3R 3
(c) *aa 133

[d 1,2 3R 3

DFGT-D-TMS/1A

e : i 3 9 2 (02) weiEt ¥ R Brefifad w
faam $ifr)

T 79 g (5, - 8), (-2 9) M (2 1) A B T B
51. J9 % %3 & frewis w1 §7

(@) (-2 -50)

(b) (-50, -20)
(c) (-24, -58)
(d) (-58 -24)

52. IR ga i B r 2}, A Fefeifea § & F-w
@ e

(a) r<10

(b) 10<r<30

fc) 30<r<60

(d) r>60

18



49. If Direction : Consider the following for the next
two (02) items that follow.

5]
>
[}

x=—,
i e u=p A circle is passing through the points (5 - 8),
(-2 9) and (2 1)
then what is the value of the following?
51. What are the coordinates of the centre

of the circle? :

1 -x x
1 S
oty 1 (@ (-2 -50)
0
i (b) (50, -20)
(b) 1
6 W () (-24,-58)
(d) ab+bc+ca
(d) (-58 -24)

50. Consider the following in respect of the
matrix

S

1]
e
ek
—

52. If r is the radius of the circle, then

1. Inverse of A does not exist which one of the following is correct?

2. A=A
3. 3A=A2 (@ r<10

Which of the above are correct?
(p) 10<r<30
(@) 1 and 2 only

(b) 2 and 3 only (c) 30<r<60

() 1 and 3 only

(d 1,2 and 3 (d) r>60

DFGT-D-TMS/1A 19 [P.T.O.



9 : o o 19t 2 (02) wiEl F forn Fififaa w
feram $ifsm

& wag e & @ ofd (0, 0) 3w (2, 2) ¥)

53. Frfafaa #yi w fer Hift

1. 9@ i w1 - w v
AT B

2. &F%A U B

IR HUE | A - /AA-Y T /R
(a) ¥ 1

(b) Fad 2

(c) 1 3R 23

(d @ 13MAH2

54. det il F Fdwiel &1 ofar 71 27
(@ O
(b) V3

(¢ 242

(@ 2J3

DFGT-D-TMS/1A
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&9 : a1 3 A1 21 (02) wwiE ¥ e frfeifag w
e $ifSmg)

UF HHI 9G4S ABCD % dH wamma vl % frdvis
A(1, 3), B(-1,2) 3R (3 5) ¥
55. fasl BD =1 wrfiso w27
(@ 2x-3y+2=0
(b) 3x-2y+5=0
() 2x-3y+8=0
(d 3x-2y-5=0

56. GHId IgS F1 Sa%e 747 27
(@) 1= gHTg
(b) gaﬁsaﬂi
(c) 23 3T
(@ 2w
e : o o 9 2 (02) wE! F R Aefifag
R fmm fifvm)
@ By ABC #t ysi3it AB, BC 3t cA ¥ i
F: x-2=0, y+1=0T x+2y-4 = 0%
57. ACWR B ¥ xfiiera %1 asfier @27 27
(a)
(b)
(c)
(d)
58. Py ¥ ufthz ¥ Rdwrs w0 §7
(@ (4,0)
(b) (2,1)

fc) (0, 4)
(@ (2,-1)

x-3y+1=0
x-3y+4=0
2x-y+4=0
2x-y—5=0



Direction : Consider the following for the next
two (02) items that follow.

The two vertices of an equilateral triangle are
(0, 0) and (2, 2).

53. Consider the following statements :

1. The third vertex has at least one
irrational coordinate.

2. The area is irrational.

Which of the above statements is/are
correct?

(a) 1 only

(b) 2 only
() Both 1 and 2

(d) Neither 1 nor 2

54. The difference of coordinates of the third
vertex is

(@) O

v3

(b)

(c) 2J2

(d 2J3

DFGT-D-TMS/1A
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Direction : Consider the following for the next
two (02) items that follow.

The coordinates of three consecutive vertices
of a parallelogram ABCD are A(} 3), B(-1 2
and C(3, 5).
55. What is the equation of the diagonal BD?
(@) 2x-3y+2=0
(b) 3x-2y+5=0
(c) 2x-3y+8=0
fd) 3x-2y—-5= 0

B6. What is the area of the parallelogram?
(a)
(b)
c)
(d)

1 square unit

3 d
2 square units

2 square units

5 ;
5 square units

Direction : Consider the following for the next
two (02) items that follow.

The equations of the sides AB, BC and CA of
a triangle ABC are x-2=0, y+1=0 and
x +2y -4 = 0 respectively.

57. What is the equation of the altitude
through B on AC?
(@)
(b)
(c)
(d)

x-3y+1=0
x-3y+4=0
2x-y+4=0
2x-y-5=0
58. What are the coordinates of circumcentre
of the triangle?
(@ (4,0)
(b) (2,1)
(c) (0, 4)
(@ (2,-1)

[P.T.O.



B : o o a1t 21 02) wemid ¥ R iR w
foam Hifsm

ww%ﬁﬁa(ﬁaﬁn)%aaﬁwﬁg
(-2, 4) 3R (-2, -4) §)

59. mﬁéa(émiwq)%aaﬁmﬁg%mﬁm
A fogsll ¥ orfrepam ey wEem @R
wHd 87
(a) Fael TH
() A

(c) SR

(d) Fd

60. ¥ wEerl ¥ ey # fiefifed Fert w fEw
Tﬁﬁm: '

L. ¥ q & wEew g fig (0, 0) @
TSR B

2. ¥ ¥ W wEem H oA (ea)
(-2, 0) W f¥m 2|

IF ol % ¥ P-w/ER-d wd 2R

(a) Fad 1

(b) e 2

(c) 1 3R 23

(d @ 1Rad2

DFGT-D-TMS/1A

61. W fag P(x, y, z) %1 fagey (dhww) @ W
wmvﬂaﬁaaﬂm%ﬁszﬂ%,?hﬁgw
() = 27
(@) xR % FAR TF @

(b) y-H& F FEIR T @
(c) 2z-39 F TR T 1@

(d) xy-ad % GEIER TF G

62. T=fifaa HoEt w Raw $iftw .
1. afg (W@) & w Yo ¥ org
Teag-srquma & vt §)
2. Tt Pifim W@ % fom 9z dwg 2 5
Re-Fragi & a1 A, @ T ¥
Tog-wramsl & dvmea ¥ s R

IE Fo 3§ @ A2 wh B/
(@) Fad 1

(b) ¥ 2

¢ 1323

(@ Fd13dmaA2

63. xy-1d, g (-1, 3 4) 3R (2 -5 6) F =Y
T YarEs F R e Rl w27

(@) WiahE ®9 R 2: 3% srguma
(b) TR ¥4 F 3:2 % U §
(c) =TIE: 2: 3% g9 §
(d) =TEE:2: 1% 9 §



Direction : Consider the following for the next
two (02) items that follow.

The two ends of the latus rectum of a parabola
are (-2 4) and (-2 —4).

59. What is the maximum number of
parabolas that can be drawn through
these two points as end points of
latus rectum?

(a) Only one

(b) Two

(c) Four

(d) Infinite

60. Consider the following statements in
respect of such parabolas :

1. One of the parabolas passes
through the origin (0, 0).

2. The focus of one of the parabolas
lies at (-2 O).

Which of the above statements is/are
correct?

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

DFGT-D-TMS/1A 23

61. The locus of a point P(x, y z) which

moves in such a way that z=7 is a
(a) line parallel to x-axis
(b) line parallel to y-axis
(c) line parallel to z-axis

(d) plane parallel to xy-plane

62. Consider the following statements :

1. A line in space can have infinitely
many direction ratios.

2. It is possible for certain line that
the sum of the squares of direction
cosines can be equal to sum of its
direction cosines.

Which of the above statements is/are
correct?

(a) 1 only
(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

63. The xy-plane divides the line segment

joining the points (-1, 3, 4)and (2 - 5, 6)
(a) internally in the ratio 2: 3
(b) internally in the ratio 3:2
(c) externally in the ratio 2:3

(d) externally in the ratio 2: 1

[ P.T.O.



64. Fdw® 318l A vl F3 9 1 fism ¥ e B
weEa e 37
(@) 4
(b) 6
(c) 8
(d) ¥

65. ABCDEFGH U% 914 8, frgam snar ABCD
® W difw Ao 0), B(12 0, 0),
C(12 6 0) R G(12 6 4) ¥f & aR AB
A AG F F 1 B o ¥ AC 3k AG
A9 1 F B R, N cos2o +cos2B F AN
1 RY

40
(a) 5

64

49

120

49

160
49

(b)
(c)
(d)
66. 7F T @, b 3k ¢ W ww wRw ¥

dxb, SR AR 3 AR B ¥ H9
0 0 3, @ Pl § ¥ He-m/AE-2

Hel B/77

1. ax E sin® ¢

2. d-bxd=0

A g M 2 1 v W wd 3w g
(a) Fad 1

(b) e 2

(c) 1 3R 2 2H

(@ Fd13dRTd2

DFGT-D-TMS/1A
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67. 3R G+3b=3i-; ak 2d+b =1-2j,

@ @ T b F T B F Fea 27
(a)
(b)

ola o©

(c)

wla

(d)

(S

68. AR @+b), d WAt AR b W whEw, @

s w1 A R, @ @d+b)-b w owm
Toress s 7

(a) O
(b) 1

(c) 8|ad|?

(@) 8|b|>

69. mﬁqa,gﬁl{cﬁqﬂﬁm@%ﬁsa,g

amcmaeﬁu%lﬁwﬁw&qaﬁﬁm-m/
FH-8 Th B/E7

1. (axb)xc,aaﬂtgﬁim'ﬂﬂﬂ‘cﬂﬂﬁ
2. @xb)x2 dxbWaad

A fow 1 2 1 v W I gh
(a) Fae 1

(b) F=e 2

(c) 1 3R 23t

(d) Fd@1ARTH 2



64. The number of spheres of radius r

touching the coordinate axes is
(a) 4

(b) 6

(c) 8

(d) infinite

65. ABCDEFGH is a cuboid with base ABCD.

Let A(0, 0 0), B(12 0, 0), C(12 6 0) and
G(12 6,4) be the vertices. If o is the
angle between AB and AG; P is the
angle between AC and AG, then what
is the value of cos2ua +cos2f?

40
al —
@ 49
64

® 25

120
49

160
49

(c)

(@

66. Let d, b and ¢ be unit vectors such that

@xb is perpendicular to €. If  is the

angle between d and g, then which of
the following is/are correct?

1. dxb=sind¢
2. d-bxd=0

Select the correct answer using the code
given below.

(@) 1 only
(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

DFGT-D-TMS/1A

67.

If d+3b=3I-} and 2d8+b=1-2},
then what is the angle between
d and b?

(@) O
(b)

oA

(c)

wlAa

(d)

(SR ]

g N - -
68. If (@a+b) is perpendicular to a and

i
magnitude of b is twice that of d,
—

then what is the value of (4&'+3]-b
equal to?

(a) O
(b) 1

(c) 8|d|?

() 8|bJ?

. =y
69. Let a, b and ¢ be three vectors such

that a, b and ¢ are coplanar. Which
of the following is/are correct?

; [ (&'xg)xf:’is coplanar with d@ and b

4

I

2 ﬁxg)x? is perpendicular to d x b

Select the correct answer using the code
given below.

(@) 1 only

(b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

[P.T.O.



70. AR A 3R B F f&ufv wfem waw: (W2 - 1)1 -

A i+W2+1j%, @ AB F uiEw w1 7
(@ 22

(b) 32
c) 23

(d 33

71. 3f2

y=(1+x(1+x?)(1+x)(1+x8)(1+x6)

2 Ax=0W g e w27

(@) O
() 1
(c) 2

(@ 4

72. IR Y =cosx-cos4x-cos8x %’ DN x=14t-

1Y ooy a7
y dx

(@) -1
(b) O
c) 1

d 3

DFGT-D-TMS/1A
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73. HH WL £(x) 39 THR F T 9598 Fer &
fofl)=x% 21 £ fras s 27

(@ ©
(b) 1
fc) 2

d 4

74. lim a” +b" %{ﬁ;m%, Wel a>b>1
n—e gt - pt
27
(@ -1
(b) O
) 1

(d) i SAfe 7 &

75. OH iR

1+—f—, D<x<?2
flx) = 2k

kx, 2<x<4
?I'ﬂﬁ;i_)mzf(xjmﬂﬁﬁ%,?h k %1 WA
w7
(@ -2
(b) -1
© O
@ 1



70. If the position vectors of A and B 73. Let f(x) be a polynomial function such

are (W2-1)i-] and {+@W2+1)j that f o f(x) = x*. What is f’(]) equal to?
respectively, then what is the
magnitude of AB ? >

(b) 1
(a) 22

(¢ 2
(b) 32 d 4
() 2J3

74. What is

Blis a™ +b"

n—oee an _bﬂ.

5 [O: where a > b > 1, equal to?

y=(1+x(1+x2)(1+x) 1+ x8)(1+x6)

(@ -1
then what is % at x = 0 equal to? (b) O
fc)™=1
(@) O (d) Limit does not exist
(b) 1
(c 2 75. Let
(d) 4 1+-%X, 0<x<?2
f)={ 2k
ke 22 x<4d
72. If y=cosx-cos4x-cos8x, then what is
If lim ists, i
1 % 2 x=g Saualit? h f(x) exists, then what is the value
¥ of k?
(@ -1 (@ -2
(b) O (b) -1
¢ 1 (c) O
(d) 3 (@ 1

DFGT-D-TMS/1A 27 [P.T.O.



76. f(x)=|x|-1% "uy 3§ F=ffad s ® 79. €0 aRdfeE W@ W SR HeW

foram $ifs . f(x) = 1-sin x 1 908 #7187
1. x=1W f(x) Gad 2|
2. x=0W f(x) FaHaA R (@ (0,2)
I HUHl F A FH-A1/RH-Q G 2/R7 (b) 0,2
(@) ¥ 1 © (1)
Fad 2
i (@ [-1 1]
¢) 13 2 aHt

[d T 1IARTH 2

80. x=—£ R y=cos lcosx) N wi-t@
77. R f{x}=m, x#0®, &[] 7w s

| x| (3=5F2) it e () w1 R7
Fo H Eifed W R, A x= 1R fo RN
gféqor wfimr @ 27 (@ -1
(@) -1 (b) ©
(b) 0 o
) 1
(d) x=1% f(x)h o @ w1 AfEm @ 2
7 ?
78. oM 81. x? & WU # f(x)=1+x? +x* T A
1 EoI
f(x}=sin[—2), Sdo
: x3 JCS
¥ gy § e oA w few $ifv ; (s e fee N
1. 3R f(0)=0%, q T8 x = 0 W Fad 8|
3 5
2. -2 mg S 3
uﬂx—ﬁtﬂmﬁl (b} = s - +C
YT FYA F Y PH-1/EA-Q wh R/
4 6
(@) Faa 1 (c) x2+"7+%+c
(b) Fad 2
(c) 13K 23N o
' | A X
(d Fq1ARAH 2 @ x*+5-+ZscC
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76. Consider the following statements in 79. What is the range of the function

respect of f(x)=|x|-1: f(x)=1-sinx defined on entire real
1. f(x) is continuous at x = 1. line?

2I. f(x) is differentiable at x = 0. @ (02

Which of the above statements is/are

correct? (b) [0 2]

(a) 1 only () (-11)

ol b s @ 1y

() Both 1 and 2
(d) Neither 1 nor 2
80. What is the slope of the tangent of

[x] y =cos'1(cosx] it x=~272
77. If f(x)=-—, x# 0, where [-] denotes the 4

[x]
greatest integer function, then what is @ -1
the right-hand limit of f(x) at x =17
(@ -1 CL 2
(b) O ) 1

© 1

(d) Right-hand limit of f(x) at x=1
does not exist

(d) 2

81. What is the integral of f(x)=1+x? +x?

: - followi
78. Consider the following statements with respect to x2 ?

in respect of the function
1
filx)= sin(—), x#0: 3 5
x? (@ x+ % + x? +C
1. [Itis continuous at x = 0, if f(0) = 0.

: : 2
2. It is continuous at x = —. 3 5
8 il hia
Which of the above statements is/are
correct?
4 6
(@ 1 only (c) x2+xT+%+C
(b) 2 only
(c) Both 1 and 2 PR
_ ) 22+ yELe
(d) Neither 1 nor 2 2 3
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82. I (1, 2) A BeH flx)=x2 +1F gay § 85. 3 j’Jl-sinzx dx = Asinx + Bcosx + C

Frefeafaa wuE w fa=r fifvw . ?, &l 0{.%:«:4E R @ fafafes & @
1. e F Al 7 5 R H-T1 TE 27
2. e H =FaH 7H 2 R
fag A+B=0
IEE FUA | ¥ BH-T/FA-8 T 2/
iy () A+B-2=0
(b) ¥ 2 ) A+B+2=0
(c) 1 323

(d A+B-1=0
(@ @1 H2

86. W wf digdl ¥ sEww witww i B

83. R f(x), f()=f@4) F TR Fa1 B, @ (FTR) *=n ¢ T uw, Pies a1t &
ff’(x) dx T e 27 q1-a1y 87
(@ 1
(@) -1
(b) 2
(b) O
fc) 3
) 1
(@ 4
(d) 2

87. W@ i gl F rawa @i H u@ ()

84. éem‘“’”}dx‘ﬁﬂﬁm%? :ﬁgﬁgﬁﬁ%wma%ma@hﬂ
(B @ 1
(b) 0 b) 2
{4 (€ 3
@ 2 (d) 4

DFGT-D-TMS/1A 30



82. Consider the following statements
in respect of the function f(x)= x? +1
in the interval (1, 2) :

1. The maximum value of the function
18:0,

2. The minimum value of the function
is 2.

Which of the above statements is/are
correct?

(a) 1 only
(b) 2 only
() Both 1 and 2

(d) Neither 1 nor 2

83. If f(x) satisfies f(l) = f(4), then what is

f f’(x) dx equal to?

(@ -1
(b) ©
(¢ 1
(d) 2

84. What is E eln(0sx%) gy equal to?

(@ -1
(b) ©
) 1

@ 2
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85.

If ‘[Jl —-sin2x dx = Asinx + Bcosx + C,
where O0< x < ;, then which one of the

following is correct?

(ag A+B=0
(b) A+B-2=0
fc) A+B+2=0

(d A+B-1=0

86. What is the order of the differential

equation of all ellipses whose axes are
along the coordinate axes?

(@ 1
(b) 2
() 3

(@ 4

87. What is the degree of the differential

equation of all circles touching both the
coordinate axes in the first quadrant?

{a)e 1
(b) 2
fc) 3

(d 4

[ P.T.O.



x

88. y:A-Baﬂ e THIHT T 87 91, Wf{x)=x+lﬂséﬁaﬁﬁv=fﬁ=rﬁ§a$ﬁ
X

R e Hifve .
(@ xy, +y =0 1. flx) & WHE fkas 9H, =E
Y <A 7F =23 R
(b) xyp +2y =0 2. flo) ® @Y AfwE AW x=1 W
BT B
-2y, =0
@ BT Sl o B 2 /-2 T /R
(d) 2xy, +y =0 (@) F 1
(b) wHEHA 2
(c) 1 3R 2 <M
89. jé‘ln[tan—;fjdx%aﬁsw%? (@ @ 13ITH2
@ o 92. 2 T (Ife) Fem ot frdt 3w # ifea fvg
S GFA g frdl A o Afusman Sawd
v b
2 (@ 4 & 3HE
: (b) 6 a1 THE
@ (c) 8= 3HE
@ 2 (@) 16 T

03. [— % _ formds s ¥7
xw2+n

90. f&g (0, 1) W TF y=e* H TRI-W@I, x-34

W et frerdht 27 o %m[ :z J+c
X
(@ (1,0 i
(b) m[ ;‘ }+c
() (-1 0 o s
3 x2
© @0 4 Eln[x2+lJ+c
2
(d} (_51’ 0] (d) %ln[xx;1]+c
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88. What is the differential equation of 91. Consider the following statements

y= A-E? in respect of the function f(x) = x+l:
X x

1. The local maximum value of f(x) is
@ xuz+y =0 less than its local minimum value.

2. The local maximum value of f(x)
(b) xyp +2y, =0 occurs at x = 1

Which of the above statements is/are
() xy, -2y =0 correct?

(@) 1 only
(d) 2xy; +y; =0 (b) 2 only

(c) Both 1 and 2
(d) Neither 1 nor 2

89. What is _[; ]n(tanf) dx equal to?
2 92. What is the maximum area of a rectangle
that can be inscribed in a circle of

(@ © radius 2 units?

(a) 4 square units

1

(b) 2 (b) 6 square units

(c) 8 square units
© 1 (d) 16 square units

; dx
93, What is | ———— equal to?

(d) 2 ‘rx(x2 +1)

90. Where does the tangent to the curve
y=e* at the point (0, 1) meet x-axis?

(@) %ln( x? ]+c

2
(@ (1,0 (b) ln( ;‘ ]+c
x“+1
) (-10) >
(©) gln z ]+c
© @0 1
THE @ lm(x21),c
@ (‘5' ) 27| x2
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94. e* F HIY & " 1 rawew HT 27
(@ e
(b) e*
(c) ee

(d) ee*

95. fra fufd & flg=x3 +x2 +kx ¥ W

WHE =W A T8 gm?

(a) 4k <1
(b) 3k>1
(c) 3k<1

@d 3k<1

96. AR f(x)=2* 3, A Eo%!dx fra% e

X

27

(@) 4In2
(b) In4
(¢) In5

(d) 8In2

97. Hﬁj_ozf{x)dx k3 a‘TJ‘_”2|f(x)|dx

(@ kAR
(b) kAR
(0) kQBAA kF TR 2
(d) k& TS kF TR 2

DFGT-D-TMS/1A
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(@) 8<Z

98. AR WM f(x)=x2 —kx, FRA (1 ) F

UHieed: adue R, A fefiRes § ¥ -
e 87

(a) k<2
(b) 2<k<3
fc) 3<k<4

@d k>4

9. y=[x], 5@ [-] HewH PIi% Fed B, x-31g wd

@it x =-1.5 3R x = -1.8 3@ g &5
1 &% 1 a7

(@ 03 518
(b) 0-4 5 g
(c) 06 3 T
(d) 08 T i

100. (1, 1) | 9% x2 = y ) WY@ x-5@ h

YT T4 % Wy 6 v 9t B ) Prefefaa
o | wH-91 |98 &7

6
4 b1
—<B<c=
m)ﬁ 4

(c) %<9<g

d, 35<E3‘<-"'E
()3 5



94. What is the derivative of e® with
respect to e*?

eX

(a) e
(b) e*
() e eX
(d) ee*

95. What is the

f)=x3 +x? + kx
extremum?

(@ 4k <1
(b)
() 3k<1
(d)

that
local

condition
has no

3k>1

k<1

96. If f(x)=2*, then what is E"%dx

equal to?
(a) 4In2

(b)
(c) InS5
(d)

In4

8In2

97. 1f [ f(x) dx =k, then [°|f(x)]dx is

(@)
(b) greater than k

less than k

{c) less than or equal to k
(d) greater than or equal to k

DFGT-D-TMS/1A
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98.

If the function f{x)=x2—kx is

monotonically increasing in the interval

(1, ), then which one of the following is
correct?

(a) k<2
(b) 2<k<3
() 3<k<4

(d k>4

99, What is the area bounded by y=|[x],

where [] is the greatest integer function,
the x-axis and the lines x=-1-5 and
x=-1.8?

(@) 0-3 square unit

(b)

(c) 06 square unit

0-4 square unit

(d) 0-8 square unit

100. The tangent to the curve x2 = yat (L]

makes an angle 6 with the positive
direction of x-axis. Which one of the
following is correct?

G<E
(@) 6
n n
A s
ke

n A
X efel
(c) 4< -:3

d eafe
{}3<<2

[P.T.O.



101. 3 3ggw (392) E 3l F ¥ R Aefufa
et W feEm ifvm

1. P(ENF) 2 P(E)+PF) -1
2. P(EUF) = P(E)+ PF)+ P(E NF)
3. P(EUF) < P(E)+ PR

I e § @ - /R-A w2/
(a) Faa 1

(b) ¥ 3

(c) ¥aa 133

(d 1,233

102. 3R P(A|B)< P(A) ?, @ Frfafes § @
HH-H1 GE 87

(a) P(B|A) < P(B)
(b) P(B|A)> P(B)
(c) P(B|A) = P(B)

(d) P(B|A)> P(A)

103. 59 %=1 ¥t 6 7919 717 ¥ w9 § 39y 3§,
@ frefafas # & FR-0 whaffm 6 =
it a3 qeef o 27

(@) R (&)

(b) WA e
(c) T fersrer
(d) =g faser

DFGT-D-TMS/1A
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104. F B A, B 3R C # & ww a1 sman )

Y B Wad ¥ ¥ ' HE H Wiwand
m:%,gafﬂp’élzrﬁmsaaﬁﬁ
mﬁw%%,ﬁpmqﬁw‘é?

2
(a) g

(b)

wiN

()

W)=

(@

B =

105. wF f5¥e 49 ¥, o e 6% g0 o

60 &1 # 8 9N T& (B:) URAT B| 3@ 91 i
1 Wifdwa & f6 303 g eh 18 fedt e
98 Bl (3:) 7 WR?

(@)

win

B =

9 —

13
e



101. Consider the following relations for two 104. A problem is given to three students A, B

events E and F : and C, whose probabilities of solving the
: 3
1. P(EnF)2P(E)+PF-1 problem independently are 2% and p
2. P(EUF) = PE)+P(F)+ PIEnF) respectively. If the probability that the
20 P(E Uk < P(E) + Pm pro'blem can be solved is -g—z, then what
Which of the above relations is/are ia thie, ViRt [t 1
correct? 3
(@) i~
(a) 1 only
(b) 3 only 2
(b) 3
{c) 1 and 3 only
(d 1, 2 and 3
© =
3
102. If P(A|B) < P(A), then which one of the .
following is correct? 1
; @ 5

(a) P(B|A) < P(B)

(b) P(B|A)> P(B)

105. In a cricket match, a batsman hits a six

(c) P(B|A)= P(B) 8 times out of 60 balls he plays. What
is the probability that on a ball played
(@ P(B|A)> PA) he does not hit a six?
2
(@ -

103. When the measure of central tendency is
available in the form of mean, which one

of the following is the most reliable and (b) X
accurate measure of variability? 15
(a) Range

€ =
(b) Mean deviation 15
(c) Standard deviation

@ 2
(d) Quartile deviation 15
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T : o o 9 2 (02) vl % fory frfeifiaa w T : a1t o Al 3 (02) wwErt F fo Frefefaa w

foram $ifvm) form ifsm)
3 wEw (RE) W 3x-4y+8=0 3K et fafia fowa & 60 ol g1 75 § ¥ ww fFe o
4x-3y-1=0F TG H AT §) 3% = g §
106. Frerfifn s vt Rram AR - s s o b
= 15-20 4
xmyiﬁwm}my=zx+2%| 20-25 5
25-30 11
2. yw{xiﬁlmm%@x=gy+£—%l 30-35 6
35-40 5
40-45 8
3‘3@?5 FoEl 7 | %ﬁ?-’m/ﬂ?-ﬁ el %/%? 45-50 9
50-55 6
(@) a9 1 55-60 4
60-65 2
(b) FaA 2
(c) 1 ¥ht 2w 108. =it (dfifeem) = 27
(d Jd@1sARad2 @ 35
(b) 38
107. Fafafas s9t w fmm fifsg :
(c) 39
L. Wﬁﬂ{;"ﬁiﬁr,éﬁl
4 d 40

2. x 3R y%F W w3 AR 4 §)

IR FAI A A FH-H/EA-Y T R/E? 109, g (i) w1 47
(a) e 1 (@ 2727
(b) ¥ 2 ) 2773
¢ 1 3R 23H () 2793
(d) Jd1IMAE 2 (d) 2827
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Direction : Consider the following for the next Direction : Consider the following for the next
two (02) items that follow. two (02) items that follow.

The marks obtained by 60 students in a certain
Two regression lines are given as 3x-4y+8=0 subject out of 75 are given below :
and 4x-3y—-1=0.

Marks Number of students
106. Consider the following statements : 15-20 4
1% Thesregression line of y on x is 20-25 5
y=—x+2.
4 25-30 11
2. The regression line of x on y is 30-35 6
3 1
ksl 35-40 5
Which of the above statements is/are 40-45 8
correct? 45-50 9
: 50-55 6
(@) 1 only
55-60 4
N oy 60-65 2
(¢) Both 1 and 2
(d) Neither 1 nor 2 108. What is the median?
(a) 35
107. Consider the following statements :
3 (b) 38
1. The coefficient of correlations r is —.
4 (c) 39
2. The means of x and y are 3 and 4
respectively. (d) 40
Which of the above statements is/are
correct? 109. What is the mode?
@) 1 only (@) 27-27
(b) 2 only (b) 2773
() Both 1 and 2 (c) 27-93
(d) Neither 1 nor 2 (d) 28-27
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110. 3{aUd [15, 64] & siafde y=guil 1 g1 @ 112. 10 Y& &1 71T 5-5 B) ARy Jmw 6 4

& A 7on R R s 3k 44 § ¥ "2 R 9w,
A T "I = E?
(a) 368 (@ 20
(b) 383 (b) 22
(c) 34
(c) 395 s
(d) 403 _
113. 4it 2, 4, 8, 16, 32, 64, 128, 256, 512,
1024 %1 IR 714 g ?, @ F=fafaas & &
HH-91 e 87
111, F&Hst P
X x x+2 x+3 x+10
W&l x T wlE ¥, % wged ¥ R (b) 16<g<32
Frafafas & & SF-w1/a9-2 ad 2/37
1. W > g (c) 32<g<64
2. WA > "Iy
(d) g>64
Hr fow M Fe w1 @ = wd s g
@ ¥ 114. IR 60 3R x F THS WA 48 B, A x Hl
o = 27
(b) FaE 2 (@ 32
(b) 36
(c) 1 3R 23
(c) 40
-(d} Fd1Rad2 (d) 44
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110. What is the mean of natural numbers 112. The mean of 10 observations is 5'5.
contained in the interval [15, 64]? If each observation is multiplied by 4
and subtracted from 44, then what is

the new mean?

(@) 368

(@) 20
(b) 383 o
(c) 395 i 3%
(d) 403 (d) 44

113. If g is the geometric mean of 2, 4, 8, 16,
111. For the set of numbers 32, 64, 128, 256, 512, 1024, then which
one of the following is correct?

X x x+2 x+3 x+10
fa) 8<g<16

where x is a natural number, which of

16 < g< 32
the following is/are correct? () g

1. Mean > Mode (c) 32<g<64

2. Median > Mean '
(d g>64

Select the correct answer using the code
given below.

114. If the harmonic mean of 60 and x is 48,
then what is the value of x?

fa) 1 only

(@) 32
(b) 2 only

(b) 36
(¢) Both 1 and 2 (©) 40
(d) Neither 1 nor 2 (d) 44
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115. W99 10 99 YUl &1 "1eq faaem @1 27 118. W 9« i w7 WiREa 2 % wfeo

s x2+x+n=0aﬁwaﬁﬁ$ﬁ,ﬁﬁnelﬂ
a

M n<4¥?
(b) 55 (@ 0O
10 1
(c) (b) 2
[d 105 ;
(c) 3
116. 3R (d) 51
10 10
x; =110 3 Y x2 =1540
=l i=1 119. 7R A 3k B W R sgEw () &
R, o v T 7 P(Aq'ﬁ)=%, P(Bqﬁ):% 3R
@ 22 P(AjB):%%,a’lP(BiA)ﬁma:m%?
(b) 33 11
c) 44 & 1%
C,
(b) —
d 55 14
© 3
117. 3@ 1, 3, 7 F W & (3FH H FREh :
e form) 3-sifie deant @ S §1 w @

& F1 A5 9 A =9 B W ¥ 5
o I 7 wifewa ® 6 9% e 3 @ e ,
A7 120. ¥ ¥ W R d wch W w ifs F
% W A wh T ) 5w oam f o
(a) O i ® 6 2 el 72 wfee 78 wh s
(@
15
8
15.

11
15

13
15

(b)

W=

(b)
(c)

B

(c)

(@) (d)

00| =
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115. What is the mean deviation of first 118. What is the probability that the roots

10 even natural numbers? of the equation x2 + x+n=0 are real,
where ne N and n <4?
(@ S
(@ O
(b) 55 1
(b) ~
{¢) - 10
© =
d 105 3
1
) 2
(@) 5
116. If

—

0 119. If A and B are two events such that

10
x; =110 and ¥ x? =1540

‘ 7 3
i=1 i=1 Pnot A) = —, P(not B) = — and
(not A) 16 (not B) 10
then what is the variance? P(A|B)=—1%, then what is P(B|A)
(@ 22 equal to?
11
(b) 33 @ 33
(c) 44 2
(b) a
(d 55 :
c —
(c) 3
117. 3-digit numbers are formed using the (@) 1
digits 1, 3, 7 without repetition of digits. 2

A number is randomly selected. What
is the probability that the number is 120. Seven white balls and three black balls
divisible by 3? are randomly placed in a row. What is
the probability that no two black balls
(@ O are placed adjacently?
il
ad ——
@ 15
8
15
11
15
13
15

I

(b)

(b)
c)

=

(c)

1
(d) 3 (d)
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for that question.
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